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BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

° 	 June, 2018 

LIFE SCIENCE 

LSE-13 PLANT DIVERSITY-H 

Time : 3 hours 	 Maximum Marks : 75 

Note : Question no. 1 is compulsory. Attempt any 

five questions from questions no. 2 to 8. 

1. (a) Fill in the blanks • 	 5x1=5 

(i) 	 of Coriandrum sativum are 

used as a spice. 

(ii) Vascular cambium cuts off secondary 
	on the outside. 

(iii) Latex of    is used 
for producing rubber. 

(iv) Buoyancy and aeration in aquatic 
plants are provided by 	cells. 

(v) In gymnosperms the endosperm is 
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(b) Choose the correct answer : 	 5x1=5 

(i) The coralloid roots/pneumatophores are 

apogeotropic and help in fixing 
atmospheric N2 . 

(ii) Length of a plant increases due to the 

activity of apical/lateral meristem. 

(iii) Asteraceae family is characterized by 

capitulum/racemose inflorescence. 

(iv) Fibers of jute are obtained by the 

process called retting/combing. 

(v) Wind/insect pollinated plants produce a 

large number of flowers and a large 

amount of pollen. 

(c) Match the following : 	 5x1=5 

(i) Rhizome 	I. Poaceae 

(ii) Epicalyx 	II. Nodules 

(iii) Cuscuta 	III. Extra layer of sepals 

(iv) Bacterial 	IV. Parasitic 
association 	angiosperm 

(v) Caryopsis 	V. Modification of stem 

2. (a) Explain any four of the following : 	4x1=4 

(i) Parthenogenesis 

(ii) Heartwood 

(iii) Cross pollination 

(iv) Carnivorous plants 

(v) Living fossil 
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(b) Enumerate eight differences between 
gymnosperms and angiosperms. 

(c) Give the economic importance of the family 
Poaceae/Solanaceae. 

3. Draw well-labelled diagrams of any three of the 
following : 	 3x4=12 

(a) A potato tuber 

(b) Megasporophyll of Cycas 

(c) L.S. male cone of Pinus 

(d) Parietal placentation 

4. • Write notes on any three of the following : 	3x4=12 

(a) Coralloid root 

(b) Uses of fibres 

(c) Pneumatophores 

(d) Economic importance of rubber 

(e) Breeding of wheat 

(a) Give the scientific name, family and uses of 
any medicinal or timber plant. 	 4 

(b) Describe the structure and function of a 
typical angiosperm flower and floral organs. 	4 

(c) With the help of a schematic diagram depict 
the stages in the development of male 
gametophyte in Cycas. 	 4 
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6. (a) What are the differences between fruits and 
- vegetables ? Give the scientific name, 
family and use of any one (i) fruit, 

(ii) vegetable. 4 

(b) Give the diagnostic features of the family 

Malvaceae/Asteraceae. 	 4 

(c) Describe the functions of vascular and cork 

cambium. 	 4 

7. (a) What are the three types of vegetable oils ? 
Give the scientific name and family of one 

of the plants yielding vegetable oil and give 

its uses. 

(b) Describe the vegetative and floral features of 

the family Solanaceae/Ranunculaceae. 	4 

(c) Describe the adaptations in the leaves of 

angiosperms. 	 4 

8. (a) Give any four morphological and 

anatomical differences between dicots and 

monocots. 4 

(b) Describe the processing of coffee berries or 

tea leaves. 	 4 

(c) Describe the uses of Oryza Sativa. What is 

parboiled rice ? 	 4 
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